SYELTE

A+FiE"?
P Ea s )
1 PG RERE 3, 200 #2060 AN (FIEY ) @ - NHE S AK o
2 | mE- K ¥ RA G L 1,000 HEFLFD Lo
3 FPRE (THE/RE) 1, 200 DRELRT LiEe g S (TEP AL -
Adear o - R p v R (FEL- 2 ERAD) -
B.h-k# &
55 B e 3 B Sl
1 AZT/PEDFmER KT A 10/E = = 6,000 4 HZ R F3 8 b k&ETo
R R R 13/ TR
2 < AR SR KT R ¥k
3 BirimERr kF A (T @) 5, 000 MTEL A o AT EH - A PP R o AeF R 4
(- &t 1,000 (60 #~ 4&p ) 4rd e 9L FFREFFIAL
SEF R4 | FREECTaRE T R)E Y SFE REY &
1,500) AR IRIE S8 e S G
C.EEERLE
il fe? % LA
1 EHERCKEA 1,000/ = | % 5 BT & Bk 500 (%5 BT6 B 5 4,500) i
(T B> 5t ) T 5 [ ato ko SER 4T RELFE RS F R
H 54 1/T 3w 55004
2 EHRKEB 20/ = e 10,000 4= > kyzdr > (R FH L b AR
(£'22 5 §) LI E g & BE =¥ 4 /T35 5004 0
3 S AR % Eak ¥R
D. #
LB fe# sl
1 | #p (rzz4/BE/62)  |2,000 oA AT R > WIE L o T o
2 #P RE) 3, 000
3 #p (FIEAE) 13, 800
4 R 3,000
5| Bk (i) 2,000
6 Bk (L2 &) 1,000
7 F 7R A T ¥R
A(PFEFRRPFEE):
> Ak B% Bp e (REPTF) (1T 24102 w) R

2019 # 10 * 16 p




